1. Which of the given choices will be the

proper word to fill the blank?
Hetold me thathe

movie.
(A) is finished

(B) had finished
© not finished
(D) was finished

2. ﬁﬁmaﬁ?ﬁﬁvmﬁzﬁa‘ﬁ-@#?

BB
(A) B
(B) H
© D
(D) G

ﬁgﬁaﬁ@ﬂavmaﬁmwaﬁavfé;@@? |

BBCBCDBCDEBCDEFBCDEFGBCDEF
(A) B -
B) H
©)'D
D) G

3. Which of the given choices will be the

proper word to fill the blank?
The Chairman is ill and we’ll have (0

the meeting for a day.
(A) puton
*(B) put off
(C) putout
(D) put away

waltching the

CBCDBCDEBCDEFB CDEFGBCDEF
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4. Foreier 1 A G T 1 9B 54 el AL
- @ w0 | oA AT 9 1 9B 36 R 212
SIS 0, 2ARs 9B I 5 falfelb oo IeTd G
- G ?
(A) 20
(B) 40
(C) 50
(D) 30

ﬁmﬁaﬂwﬁmw1m5z¢mﬁo
1 0 G 7 | Fereen el 57, I A 1 e
36 FaofiTo 1 o TR 77, TR Al EOLTHI T A
iy fie fermn U7
(A) 20
(B) 40
(€) 50
(D) 30

Feria ke

5, g 517+324 e 3 7Rl
ojef 71T T2

G218 R T, O # FTT TEOH
A) 1
(B) 3
©) 4
D) 2
wﬁ517*3246n§3§m{°fmmn=q‘mﬁ,
e * ;ﬂwaﬁmwﬁrqﬂfﬁwﬁm?
A 1
(B) 3
‘(O 4
(D) 2

6. What is the opposite word of ‘Plausible’?
(A) Inplausible
(B) Implausible
.(C) Displausible
(D) Believable
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11. I
(A) ,ﬂf@% A)
Sy ®
©) ﬁER?U?P{[ ' (©)
s (D) CrIEAR D)
’ ST TR B 49 TUH 2o e Eakl
% % % T fo? TR i T
' (A) amsfif A
L 2 3 4 (B) & (B)
A (C) Toem-ozrereyy ©
A1 o
B) 3 , (D) SmaTfeHt ’
(© 4 : 12. Fafr
D) 2
Tt FegwR fort anferern e o g w2 o 9. GoeFAIfR-aN, 20224 AFTR o s - _ "
T T - o aPTe! fN<fion 2@z ? / {
o < (A) Beweion (i) ;
r , (B) Tz ((D; ‘
; % C(©) g ‘
L D) REm : -
L 14 ¢ ST - -, 2022 7 Frgfetfiea gt T
bo ?/ I/O ?  foraraer fratam vy fri? & 4
NI ' ®) 3
| M M ’ | i - (B) TN © 4
1 2 3 .75 L ((D; ﬁm‘*g"g R | i o
i " | ; 13.
®B) 3 SI:nn}
, S ©4 o !
% D) 2 ' 10. In the following question, some parts in Eg) i
italics have been jumbled up. You aré required ) ﬂi
to rearrange these parts, which are labeled Ps (©)
Q, R and S to produce the correct sentence. D) g
In life, / (P) some rules are,/ (Q) as Dusiness.!

(R) they seem almost instinctive, / (S) learnt 50 Dawst

early that. ys’ §I2
(A) RSPQ ' (A) =f
B) RPSQ ®) o
(©) QSPR o ©
(D) QPSR ‘ D) 7=
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% \‘1 1 @mmﬁﬂ@wwﬁl e e sifde = e 14. &5 fifEea 120 @1 7794 At 200 G ABE
| (A) Teadr I iz | A 150 o Al <A I fE A,
'1\ B) qreg O3 [T [T FoEE 2 (ATS PIEE ?
| () TRAE (A) 20
| ORRE (B) 40
i . (© 50
. 1 IS e faUST TR AREUS Tkl
7T T \ (D) 30
m ‘ afi TR &7 |
! (A) AT T T 120 S g SR 31 200 S i
! (B) TSTERI TR @f @ @1 A 150 S AreEe Sl E
(C) W @ 17, e 76 RGeS e Gl s !
(D) R A }
“ (A) 20 ’
12. e AReEaDa x I F P ®B) 40 |
4 _J162 © 50 t?
= l‘
N (D) 30 (
S @R e ) 1 , L |
®) 3 15. In the following question, some parts in g'
© 4 . jtalics have been jumbled up. You are required E
\ D 2 ' to rearrange these parts, which are labeled P, ;
‘ . . Q, R and S to produce the correct sentence. 3
ﬁgf‘af@ﬁg‘rﬁm, X T % STRE? ‘The concept of death, / (P) that it has ?een v
4x 162 reduced, | (Q) as an inevitability, | (R) is 5O
Erafefea ; o8 : jent, / (S) 1o a cliché.
Wﬂ;{{[ﬂm o 128 4x anczgnt
o @ 1 | (4) SPRQ
A ®) 3 »(B) SRPQ
© 4 (C) QPRS
D) QRPS
WT;I:%?I%unny Days’ GI9 ERICEER b 16. Choose the correctly spelt word. %
‘ AR (A) Bouquete E
) o ‘ . (&) 3P o= (B) Boquett i
estion, some parL'S ed ‘ (B) A S ' ¢ (C) Bouquette
x Youare requlfP ‘ (©) s Ry (D) Bouquet r\
cdup S0 ahad” © e
tenc : 2
corre sen ey T ; ;[,’/-
the IOL busmesso . s fopshetehl Siert el ‘Sunny 17. Which of the given choices is synonym of i
rules are, ) Iedr”” Days’ 31?2 Cease’? 3
. sinctives ) ?
mStlncth ( g) R 33 N Begin
EC; WW : (B) Create
T fergarer (C) Dull
D .
( ‘) e g aify . (D) Stop
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18. T ‘Green’ SH ‘Yellow’, “Yellow’ FIGH

‘White’, “White” St ‘Red’, ‘Red’ SitH “Violet’,
“Violet’ S ‘Black’ T, O MK AEF 16 1?2

(A) Red

(B) Violet

(C) Black

(D) Green

IfS ‘Green’ ol Hae™ “Yellow’, “Yellow” <l
TS “White’, “White” =1 Haetsl ‘Red’, ‘Red” =l
HAe™ ‘Violet’, ‘Violet” = Aaetd ‘Black’ 81 ¥,
HI=5eh! ToRTeh! TT o |17

(A) Red

(B) Violet

(C) Black

(D) Green

19. e @F aeitce ﬁ&ﬂ?{ s\fam m%;z
(A) e
(B) &g
(C) W=y
(D) Ra=

Traferfen gene T faum ufitg 942
(A) ST

(B) TR

(C) HRNE

(D) TR

20. Choose the correctly spelt word.
(A) Scissors '
(B) Scisor
(C) Sisors
(D) Scisorrs

21, TNETTF (ACE T @I T Serlfar
(a) =

B MR

1 (C) FAIATO!

‘ (D) wifA

1
/ STITHUSHATE Id— ”@’iﬁ%ﬂﬁ?‘é‘l?
, (A) TH
4 (B) =&

o (C) Hertee
(D) arfy

- (\/625 14 44)

J25 s ) =
(A) 20
(B) 40
(©) 50
D) 30
(\/Ez_ 14 44 j -
J25 1%
(A) 20
(B) 40
- (© 50
(D) 30

23. Any part of the following sentence s}
have error. Find out which part of the senter®

- has an error or no error.

~ Ramis /senior to / Shyam inschool
~ (A) Ramis
(B) Shyam in school.
(C) No error
(D) senior to



25, Ate< Number Sequence-fBr® g7 FOG 6

@R qE sl 1 DI 5 8 7T 3 ST 9 AR 2
263756429613416391569231654321967163
(A) 2
(B) 4
©) 6
(D) 3
frafefad SEATR STTHTAT Hdad 6 AT
gfes STEe e 1 37eyaT 5 Wel gfs 3 YA 9 WS
qfers?
263756429613416391569231654321967163
A 2 -
(B) 4
© 6
(D) 3

26.- ‘Bull and Bear’ 92 XD AR FH

HF AARFO?
L (A) Ao
®) @
(O BEIERISEY
(D) CrifRat
‘Bull and Bear’ I% 9{& W U :
e 72
" (A) a1
(B) o
(C) faem-oFera
(D) STEnfest

h‘k e
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ng.ﬁftﬂﬁmﬁ?fﬁﬁwﬁﬂ@ﬁﬁr@ﬁ%ﬂ@
(el 2o —
are s H21=1>K<L
" fmiw s () K<H
an LI

(A) T () 7 P AT

(B) (I) &% (1) 7f% Frareg A |
©) (1) w21 (1) G B A |

(D) g (ID) 7 g AT |

WWWWWWW

B2
o : H21=]>K=<L
frepd @ () K<H
an L1
(A) @ﬁ;—;a)q':a'{ﬁ'ﬁ?é%@l
®) (T g Fred I
© @ awaT(II)ﬁ‘TﬁﬁEﬁﬁ@q'

(D) @ (1) o e S

mw@mmﬁqﬁlﬁc ISR

g 9T 2
mqﬁ'mﬁﬁ‘qﬂﬂﬂlmzﬁﬁﬂml

g;{unzﬁnﬁfaﬁﬁ[ﬁo fHo wifer sver |17
(A) 20
(B) 40
(C) 50
(D) 30
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29, 100 TCCHNGE o gaNGIseE T 2 -

(A) 100 T

(B) 10000 4
(C) 100000
(D) 1000

100 =FeHIHR =i sHfafafi= gs?
(A) 100 .
(B) 10000

(C) 100000

(D) 1000

30. W@HWW@WW?
(A) TERTH
(B) W&z
(©) Ty
(D) fe=rm

frafefed s T m@ﬂ? RCREI)|
A B?

(A) AW

(B) T=TEI

(C) Hery

(D) &R

31. oI @eT BRG M T AT @i
3T (& 2 R, ﬂ%ﬁﬁi{@?ﬁmw|
2 TR e e |

(A) 72
(B) 96
(C) 28
(D) 82

el fegUehl =Reer S 7Yl dided %4 Tee
Waw&rﬁammma&%%ﬁ@aﬁtmm
HeAmn! fofg e |

(A) 72

(B) 96

(C) 28

(D) 82

(8)

()

"

32. RS FST TR A 5,
(A) H,S0,
(B) HNO;
(C) C;H,0H
(D) HCI

Tsfoch TR ol THAME G 2
(A) HySO,

(B) HNO,

(C) C;H;0H

(D) HCI

33. 516 ~A™t fac 8 <961 o1& et 30 faret iy
ST ST 23 | 475 #1121 At 6 951 e s
e 62 etaRb Ser T AR

(A) 20
(B) 40
(C) 50
(D) 30

5 91 TR T TG 8 S T W,
30 T w=ar Swhetd wifer T e R See
4 9 AT Yoo o 6 S1veT i ) 9, i e
@ifeT T ges?

(A) 20

(B) 40

(C) 50

(D) 30

34 ﬁﬁ%ﬂ—mWWﬁﬁmW

- JZe?

(A) CeFe
(B) Az
(C) Wzl
(D) faw

@aﬁmww &I STTHR oWl
<l B2

(A) STORY

(B) SRy

(C) weRy

(D) foRR




35, A, B 6 TG 3 T S AT <5 27 T
e @ TBICTE 5 T AN G T 20 < o
A T T O 29 ?
(A) 20
(B) 40
(C) 50
(D) 30

3 o @HfeT e T, T AR S S
27aﬂ°farq?31ﬁsaa°a¢f‘€rw1ﬁ°rﬁﬁaﬁaﬂwaﬁt
zoaﬁfwlmﬁaﬁqﬁaﬁimﬁraﬁg‘r?

(A) 20
(B) 40
(©) 50
D) 30

(9)
Const(I'WE)-2020

' 38, P qurg o 1 A
i G 450 1 s 4:5% 2 e 7
(A)
(B) 3
© 4
(D) 2

450 BT 4-5% i 7 Feier Areor AT
Tl il A 81wl g2

(4) 1

(B) 3

© 4

D) 2

39. Any part of the following sentence may

36. Any part of the following sentence may

have error. Find out which part of the sentence
has an error or no error.
It was him / who came running / into the

have error. Find out which part of the sentence
has an error or no error. '
. Supposing if / it rains / what shall we do?
" (A) Supposing if
(B) what shall we do?

classroom.
(A) It was him
(B) into the classroom.
(C) No error
(D) who came running

" (C) No error
(D) it rains

40. 1853 i 249 &9 e @ QST

37, SRR AT NEE G W TR ? e Ffee?

(A) S () Teador
(B) 4. (B) A&
(C) ZePre (C) TG
(D) W= (D) R=A

S i iR e ST s 1853 WreTH HAE TeAH Wfeell YR

o YeTeTEAR T TR fr=?

(A) (A) ST
(B) afr@r (B) TR
© == (C) TENg

- (D) 7 (D) R
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41, ‘SAVOURY’ =fos W Fjage - 2o 43. In the followip .
Vowel-43 #fF3ts 1% 2331f% 3= ©iw oiaae) italics have beenjum§1§§“t'°“’ ® Parg,
¥ @1 =W 9 &b Consonant-93 W‘fﬂﬂ?ﬁ to rearrange these parts l\lxg].iY}?u ety
A 3o oy EARSIEGIN GRERAC e fel on Q,Rand S tg Produce t};e COI(‘: are ]abeledp!
el Anear o SIS 1A% I @ s Keshab, / (p _ rect Sentence,
RicAvnitic readi >/ )leftinan ger, !
MG, R (T oAeen AR @R cading a sailing magazine. | Plane, Q) gy,
T . (S) 10 build nig own boat ni, (R) had decide |
(&) U X&) PRQs el
(B) Q (B) RQPS
©) X (C) PSRQ
(D) R R) RsQp
|
AR ‘SAVOURY"
g\velﬁmwaﬁ ;@T‘rﬁqw vl TER TR vy |
@mconsollant?"g \?;i'atyﬂ- " I \“W
e T Y, Tl ey
M il e T SRS
(4) u
B) Q
© x
D) R
o o B A R 10 fibtg s o
5 P 0 2 it wfie sl Q R
) I 6 R 4wz wwe ¢ s Q FF
2P By ST 2, ficare o o R
ATTEHAR A« ;
(A) A, C,p
®B) Q,c, A
2. In ¢ _ ©) A,B,Q
talicg have zoqumg question, some parts i (D) B,C.p
o real‘l‘ange te;‘.]llmbled up. You are requireg |
»Rang g to ©S€ parts, which are labeled P PirgA g 3fe 10 firex afm T el
Today /I()pro-d“ce the correct sentence. | =B g P firg 3fq o firey wfeqor s ¥
Connectiyyy, I;ozh) " the country, 1 (Q) offers the begs QTg B frg 3y 6 THex getay srafiga o Af Cfr
PIETIS of 1oy 1o all states, 1| Q PG 2 o ey srfen 5 o, T
and data lysi 7 : oy
A) RPOS ana ).rf'zs. DrenfE j\ﬁﬁa'a forg e ey T T
®B) rRQPS EB) A, Cp
(@) SpqQr B Qo a
(D) SQPR = Eg ‘1‘3\- B.Q
B,C,p

s
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47 11 90T @30 @ Bow andem 7
33,327 6 O 779 ©FF (AT 3 TRET 0o | 3
GRS <R To0aTs] (G 93 (308 97 (761 2, W7

45, T=I91 #IrEl SR AN @ 7 (3 v
) ST T R, CATG Frse com aregfoce

RS fe?
(A) Teqew - GG B0 91T 3797 (G o o 9 (30 1 9
(B) dreZ N & | oo™ T T Fo I-A 7
(C) T=I¥IE (4) 20
(D) f=r= (B) 40
T e TR A R JETE (;C)) 353
T AT ST eIl an (oo ST 97 :
A) 5 11 TR e ST e S 3 A
(B) T wﬁaﬁrﬁ%?ﬁn’maﬂ%‘ﬁﬁamwﬁ%%@
(C) &g 3 el 7o AR A
e ol Aol G oA S T
(D) feer 1 e i A 7 27
(A) 20
(B) 40
(©) 50
(D) 30

48. TG e FERRS P TS

i ?
46. R Pt cam 46T OO (a) Tome

(4) g e pag
(B) et (D) R
(©) AT yrog
(D) TSty ~AefCTE! \ sy A PR S
S?wmﬁ% Gmﬂqrsﬁﬁ@?@wﬁq (A) T

_ n Tree) (B) TS
- ;I;plcal E\/;;gg; Angrove Tre (C) VR
' S Tree) (D) fomR

(C) werght gar (Mountaino!

(D iduous T1ce
) TaER g4 (Deci [Please Turn Over]
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PP — %4@9@%@6 Cs:;‘ﬂ—mm—ﬁm e I TONE @l SIS T
%ﬁmmwmwwwwm? (A) FGER

(A) 20 ) (B) =i = &

(B) 40 (C) gregr

(C) 50 D) e W

(D) 30

‘5 Ferdret Sl ST S dereare g
' Tes?
T3 B B TS HEATE %ﬁ%@rﬂn %?{ '

(A) SfEer
T[T T o, ek TewTe s e Ffe T B2 (B) IRE T
(A) 20 | (©) I=H
i (B) 40 (D) e "ifse
+3
Vs (©) 50
/
QO
2 (D) 30 N
s ¥
3 *‘?O @ZK 3 o _&
Sy R
o \'\.J’D, 2 :
50. ‘CTERIMAY IRY (S TN TCATRE 2
(A) IR IR
(B) SR TP WE
© wmerE®
(D) = e | }
R e F T St i for PG L e ot
W) W o .’ss'r'ﬂﬁeﬂ%wmmﬂ P
®) TeEE g o o |42 REe 1S40 fip 48 TR o
© mmmm L | oD e i e R/
= LER s LT A F T ey o0
(D) 50
. ol s
4
51. ?hoo‘se. the correct meaning of the TR TORICAT TS TR 42 o fHo a,:’[’c;a S
| underlined idiom from the given alternatives. 40 T 48 Ve T TS| T M
% He is a little hard of hearine. . TRR 6 fFo fifo Wl Ul 7
(A) inaudible ' e (A) 25
; 4 (B) deaf i (B) 100
% (C) insensitive (C) 200
i] (D) disinterested f (D) 50
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e e — Const(FWE)-2020
=< RO
o) (IR T FS ST s oo Sors s st
(A) T9elte (A) TISifs '
(B) & (B)
(C) ez ©) FI—DI?Q’J\W[
(D) A (D) Gtz
-~ N 7] E o S _
g Tl Fraferiad & fommem smemsy g;?ifﬁgﬁmww@w
@i el JIERR 9da T9q? B it
(g) ;af:rrﬁf © frame
(B) (D) GATafEt
(C) forem-=ereen
(D) GrenfeH

55. ST SISICE 61T ST 92! ST A
Tl foE 2

(A) SIS 58, Tpg R Il AR 243w 990
(B) @ efofe 7 2 T | I AR Hoee Ao
(© FvrEl e &y (3 RN (ST T, T WL X o
(D) G Bfee o TRANeR PIE! 2@, @ IR A
‘ . Wmm,ﬁﬁ’i‘c’f—
e ¢ | FE] H VvV A R O B E I U
ey fore? , s o
\ st {1 2 3 4 5 6 7
_- (g) :ﬁ (A) 671328594
(C);W — (B) 345179842
o p (C) 963258714

'(D\) (D) 157392846

fFraferfad SRum! Tofeeels TR HeH Jee

: 59
56. 00169 x =13 AT, 1~ T T | ,.maﬁﬂmmﬁ"ﬁ?{'wq@ SRTH

(A) 100 o= T U @ I e R ®,
( <?:( (B) 10000 . awmﬁwmmw@wﬁ Sl
y (© 100000 T TS e, el & —
“ (D) 1000 H V A R O B>~ I U

1 2 3 4 5 6 7 8 9
—(A) 671328594 ’
(B) 345179842

%\ V00160 % = 13wﬁxa’3‘mﬁa7

4 (A) 100

(B) 10000 (C) 963258714
© 100000 Bofar, (D) 157392846
®) 1000 ' .
&Lﬂ]@ L [Please Turn Over]
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59. Which of the given choices is synonym of
‘Defer’? oo
(A) Indifferent
(B) Differ
(C) Postpone
(D) Defy

AR

-

R [jf T

60. b 7<RTS BOARD 2153169 G<t NEAR
2T 2416 | (R FK&CS NODE 1 232
(A) 2394 5
(B) 2934 B
(C) 2694 i
(D) 2894 °

Tzl Ffved T3 BOARD &€ 53169

A 31 NEAR T 2416 S | i wreem

NODE T & #ifems?
T (A) 2394

(B) 2934

(C) 2694

(D) 2894

IR
&
‘ ff’@ 'f

@GQZ\O Do
a Y

.61. What is the opposite word of ‘Frailty’?
(A) Energy
(B) Vehemence
(C) Strength : o
(D) Intensity .

‘www.kolom.in

62. 10185 Fmfere ooy
QST 23 71 Fevie Ry gy

(A) 20 ?
(B) 40
(©) 50
(D) 30

1018 =1 Fraferied Tt wemems 4
Y INTRETeTE 23 TR A W@%mﬂ
Hferms?

(A) 20 5

®) 40 % 1) Iy

(©) 50 0, g (5

0 7% I
(D) 30 \S ﬂ,
10 9&’ o/

e
65 ﬂg’

’ Y
63. Choose the correct meaning of the 33
underlined idiom from the given alternatives.

We should guard against our green-eyed

friends, . \2\)/
| - (A) poor : &0-@
. (B) handsome " - /\< (‘/ /
(C) enthusiastic 2 5 2]
(D) jealous & ;
| N
(23
" 64. ADER =5 (3@ 398 m@;ﬂ
ool sitenl @S ACE, @A AT
- Byl GFIR JIRF FA WA
A) 1 .
(B) 3.
< 4
D) 2 s
ADER Y[esTe shitrael ¥% aﬁﬂ;ﬁ; Tﬁ
T e S e STERETE T T |
qfche? \
® 3 Koo
© 4 o S 30
Q-2 R
}_/,,
55



65. Choose the correct meaning of the
un’Sglined idiom from the given alternatiyes,

“At a party, he is always in high Spirits.
(A) talkative

(B) drunk

(C) uncontrollable

(D) cheerful

66. (P A% SRS WIAGOIR’ 0T [4yre feet 7
(A) 7l
(B) SIRCMIAIA
(C) SR
(D) SIAwEl

FIE AT YRR FE | R A fara?

(A) W
(B) STEHSER

( 1? ) — Const(FWE)-2020
68. CHITT i 1T 12 2183 Woag ey i
(34 (IR 60% = 6 Rz é o (15 e
ﬁiﬁ? RLEE 17 A1 (eIt 73451 600 T, ST o)
1< GIC TOefT ¢ (O i@y '
(A) 25
(B) 100
(C) 200
(D) 50

P S THare, geor wef wed T
ST TS ST 60% T | el farean S

%tﬂzar%aﬁufereﬁmf‘am wiresh ST 600 Foreht
\y, a1 weffet faer smas Hie arEr?

(C) TR
(D) WRIET

67. T ol AT FEE T (W
3099 0 Wi 43R RIS AR (I 209 2
IR | O < B SRS A0 A

(R 3507 FT AT | 2 AifaTe N5 T IFT
& '

(A) 45

(B) 44

(C) 54

D) 34

Tovees) T TR TS Qe qHee
30 vy gt e e e 3 20 S
PR 5 gy e A S-S T i
S e 35 o AT T T [AE T
TR o e o7 ,

4 45

®) 44

(A) 25
(B) 100 o
¢
(C) 200 % <P b
D) 50 ‘Z@ é{:
R
T~

69. Choose the correctly spelt word.
(A) Committee
(B) Comittee
(C) Committe
(D) Commitee

70. Which of the given choices will be the
proper word to fill the blank?

Thesalt spray has gradually i the
bridge- |

(A) spoilt

(B) demolished

(C) eroded

©) 54
@) 34

(D) ravaged
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71. Nie=
o TR e 9t 2o #

T 2
Prare o

e

@D S>C=>O0;

o O<P_o,(n) P<C FiTis
() S>P

B (1) TR Brae Al

(D) @3 ) 46 ﬁm@w%ﬁ—qs
S)WW (Il)mﬁw@iwlﬁzs
G (ID) & BFrae wie) -

(A)
B)
©
(D)

5. Frafeies e g ggae firemd
et

T
: (@ S>C>0; 1D P
e : ) o<p =
) S>P
»(g) et (1) =R Frend S
B) (DT () g3 Frerd S o
=1

©) @) 1=

| (ID) B O Forsed S

] T (D) o oot e bl
\ R

[
iags ¢

36
5 .
\@@] 3¢
/
3{ V)
T

) Q*A

Sa D s
NN

72. AmI
_ T @
A 932
A) Sexemm
(B) =N
©) ==
(D) R

el ﬂa}ﬁtﬁmﬁwm -

.Qr h ‘ s '
Fafetem BT ooy ' e

Q Rsiesini <
(A) T A
(B) Tsram

(C) mwErw
(D) ﬁﬂ%r;

(16)

RS
\

73. R
AT, CRITBT ao:m?ﬁ StoRE 55 ﬂ%‘:)ﬁ%m s
N TO ? EPIS 15
(A) 25
®) 100
(C) 200
(D) 50

' TS HE&ATR

AR mwﬁwmls&@‘@w !
Wmﬁa?, T 55@%&%152@
(A) 25 .
(B) 100
(©) 200
(D) 50

| . proj
per word to fill the blank?

Th ..
L ese medicines are for curi
_ (A) proper
(B) effective
(C) capable A9 iy
v 3.

"(D) real

sentence may

75. Any part of the following
f the sentencé

ll:z:(;(::;?:'()Fmd out which parto

r or no error.

‘ The captain alons wit

practicing very hard / for the fort
(A) The captain alons wi

(B) for the forthcoming match.

(C) No errof

| are

h his teal
h.

pcoming mat
th his team

g very hard

(D) arep racticin

www.kolom.in



(17) Const(FWE)-2020

Lo SERES T o
76. T ARG Bl w121, 36666 | 157, qmm From i ot et | 7140%

mﬁgmﬂmm, 40 DUl (¢ ol e w9 27 300 wids s i aHE
UMY 3‘16 (A) 213444 } 2% ( A, Al T T Fost e e
kg6 (B) 214434 i 14 25
—(C) 231444 1y . (B) 100
(D) 214344 'O%M ((1():)) ;())o
4y (
o T " el R SR e AR (AppIe)
21,36 3T 66T T T T T 7 i1 et 0% s T s, vEEE 30
() 213445 sTEFel (Apple) 18 @1 91 THRA fgen e
(B) 214434 o ST (Apple) P2
(C) 231444 Eg)) 1230
(D) 214344 P
| (D) 50
77. G2 AT Tl G e 7 T Al
6 3% 9 TR 0T AR LA FO !
A) 1:3 .
B) 2:3
(©) sy
(D) 3:2
e T W SN 6 i
9?@1@@,@@@6%@?. | | |
g;; oty bee 0. %ﬁﬁﬁ%ﬂ:ﬂﬂ??ﬁ@ﬁfﬁaﬁl
©) g rgt | s A PR T T
Uy BN | 4,6,10,16,24,?
i ' (A) 40
s (B) 28
8. e e e AL © 30
(A) eor-irey D) 34 |
(B) *mirz < it mlwm
©) ferer #irg ad gl
D) =7 #irg ( WWT’“’:EW? .
4,6, 10, 16,24, 2
TRy s s e (A o |
® Wi . " (B) 28
© S e ) (© 30
©) 5 ' (D), 34
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81. Choose the correct meaning of the: 84. W X' = W, 2= ) o o
underlined idiom from the given alternatiyes. == RRL,OE 21 +36-12 x 8 2 4-97 k)
His promotion is on the cards. (A) 20
(A) due (B) 40
(B) certain (©) 50
(C) probable ' (D) 30
(D) evident o
qﬁ ‘X’ = c+a, s__.:_a — Lx)’ c+5 — aﬁ
‘= 9 M, 21+ 36— 12 X 8+ 4 I AR FA
Ts?
, ' (A) 20
82. What is the opposite word of ‘Demolish’? (B) 40
(A) Shift (©) 50
(B) Repeat D) 30
(C) Hide -
(D) Build
85, BB wiof i 4o e AR !
(A) @@=
(B) &g
: : (C) T
83. Which of the given choices will be the (D) &=
proper word to fill the blank? ‘~ . S
Heis very good makingstories. | STifiTeR TR gt o W .
(A) on . ] (A) ¥
B) at - | L e fs
(©) for . : - (C) =M™
(D) about | . (DS
M =3+ 104 5 1y
M =34 34
o
P 1o GA e
1T g
S, ) M Q/Q -Q
B'.r"‘ G _’E——
[ ' i 7 Q
Q
p—C
2 |2
—Q
B8 o

e -
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